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NEW QUESTION 1
Given the code fragment:

public static void main(String[] args) {

int ans;

try |
int naum = 10;
int div = 0;
ans = num / div;

} catch (ArithmeticException ae) {

ans = 0;

} catch (Exception e) {
System.out.println("Invalid calculation"):;

1

System.out.println("Answer = " 4+ ans);

}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.
D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {

public static void main{String[] args) {

int ans:

try {
int num = 10;
int diw 0
ans = num / div;

} catech (ArithmeticException ae) {

ans 0;

} catch (Exception e) {

Svatem.ont.nrintInt"Tnvalid maleulation");

[ﬂvariab.’;e ans might not have been initialized

o System.out.println{"Answer

}

NEW QUESTION 2

You are asked to create a method that accepts an array of integers and returns the highest value from that array.

Given the code fragment:
class Test{

// line nl

/{ line n2

+ ans); S line nZ

public static void main(String[] args) {

int numbers|]
int[] keys =

/* line nl */ {

int[] keys =

= 412, 13, 42, 32,

findMax (numbers) ;

new int[3]:

/* code goes here?*/

return keys:

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 3
Given the content of three files:
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A java.

public class A {
public woid af() {}
int a;

B.java:

public class B |
private int doStuff () {
private int x = 100;
return x++;

C.java:

import java.io.*;
package pl;
class A {
public volid main(String fileName) throws IOException { }
}

Which statement is true?

A. Only the A.Java file compiles successfully.
B. Only the B.java file compiles successfully.
C. Only the C.java file compiles successfully.
D. The A.Java and B.java files compile successfully.
E. The B.java and C.java files compile successfully.
F. The A.Java and C.java files compile successfully.

Answer: A

NEW QUESTION 4
Given the code fragments:
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[fsureP522

Person.java:

public class Person {
String name;
int age;

public Person(String n, int a) |
name = n;
age = a;

}

public String getName () |
return name;

}

public int getAge () {
return age;
}
}

Test.java:
public static void checkAge (List<Person> list, Predicate<Person> predicate)
for (Person p list) {

if (predicate.test(p)) f{
System.out.println(p.name + " ");

}

public static void main(String[] args) |
List<Person> ilist = Arrays.aslList (new Person("Hank", 45),

new Person("Charlie", 40),
new Person("Smith", 38));
/fline nl
}
Which code fragment, when inserted at line n1, enables the code to print Hank?
A
checkage (ilList, ( ) -> p. get Age ( ) > 40);
B
checkfAge (1List, Person p -> p.getge( ) > 40);
C
checkAge (ilist, p -> p.getRhRge ( ) > 40);
D
checkage (iList, (Person p) -> p.getAge () > 40; 1}1):
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

NEW QUESTION 5
Given:
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String stuff = "TV";

String res = null;
if (stuff.equals("TV")) {
res = "Walter™:;
} else if (stuff.equals("Movie™)} {
res = "White";
}oelse |
res = "No Result";
}
Which code fragment can replace the if block?
A
stuff.equals (“TV”) ? res= “Walter” : stuff.equals (“Movie”) ?
res = “White” : res = “No Result”:;
B
res = stuff.equals (“"TV") ? "Walter” else stuff.equals
(“Movie”™)? “White” : “No Result”;
C
res = stuff.equals (“TV"”) ? stuff.equals ("Movie”)? “Walter” :
“White” : “No Result”:;
3]
res = stuff.equals (“TV”)? “Walter” : stuff.equals (“Movie”)?
“White” : “Neo Result”;
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 6
Given the code fragment:

public static woid main (String[] argsa) |
String[] arr = (“Hi”, “How", “Are”, “You");
List<String>» arrlist = new ArrayList<> (Arrays.asli=st (arr);
if (arrList.removeIf((String =) -» (return s.length()}) <= 2;})) {

L
System.out.println(s + “removed”)”’

}

What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 7
Given:
public cla=ss Test |
public static vwoid main(String[] args) {
int = = 1;
int y = 0;
1f (x++ = ++vy) |
System.out.print (“Hello “);
} else |

System.ocut.print (“Welcoms *);
1

System.out.print ("Log ™ + x + “:" + y);

}

What is the result?
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A. Hello Log 1:0
B. Hello Log 2:1
C. Welcome Log 2:1
D. Welcome Log 1:0

Answer: C

NEW QUESTION 8
Given the code fragment:

public static vold main(Stringl[] args) |
chort =1 = 200;
Integer g2 = 400;

Long =3 = (long) =1 + =22; Ffline nl
String =4 = (String) (=23 * =2); filine nZ

System.out.println("Sum iz " + =4);

}

What is the result?

A. Sum is 600

B. Compilation fails at line nl.

C. Compilation fails at line n2.

D. A ClassCastException is thrown at line n1.
E. A ClassCastException is thrown at line n2.

Answer: C

NEW QUESTION 9
Given:

public class Test {

public static void main(Stringl[]

Test ts = new Test():;

System.out.print (1sAvailable +

isAvaillable= ts.doStuff():;

System.out.println(isAvailable)

}

public static boolean doStuff ()

return !isAvailable;
}

static boolean isAvailable = t

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: C
Explanation:

x ®

Console 15
true false

Completed with exit code: O

NEW QUESTION 10
Which two class definitions fail to compile? (Choose two.)
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A
abstract class A3 {
private static int i;
public void doStuff{) {}
public A3(){}
}
B
final class Al {
public Al(){}
}
C
private class A2 {
private static int 1i;
private A2() {}
}
D
class A4 |
protected static final int i1 = 10;
private R4 () {}
}
E
final abstract class A5 |
protected static int i;
void dosStuff () {}
abstract wvoid doIt();
}
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CD

NEW QUESTION 10
Given:
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class & |
public void test () {
System.out.println (“A");
}
}
class B extends A
public wvoid test ()
System.out.println (“B"):

1
i

public class C extends A |

public void test () {
System.out.println (“C"):
public static void main (String [] args) {
A bl = new A ()
A DbZd = new C ()
bl = (A) bZ:; //1line nl
A b3 = (B) b2:; f/line n2
bl.test (}:
b3.teat {):

1
¥
i’

What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 14
Given the code fragment:

public static veoid main(String[] args) {
ArrayList<Integer> points = new ArrayList<>():
points.add(l)
points.add(2)
points.add(3)
points.add(d):
points.add(null):
points.remove(1l):
points.remove(null) :
System.out.println(points);

" -

-

}
What is the result?

A NullPointerException is thrown at runtim
. 2,4]

, 2,4, null]

, 3,4, null]

.3, 4]

Compilation fails.

A
B. [1
C.[1
D.[1
E. [1
F.

Answer: B

NEW QUESTION 18
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.

D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.
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Answer: AE

NEW QUESTION 19
Given:
class Patient |{
String name;
public Patient (String name) {
this.name = name;

[—

And the code fragment:

8. public class Test {

g. public static void main (String [] args) |
10 List ps = new Arraylist ():

11. Patient p2 = new Patient (“Mike):
12, ps.add(p2)

13.

14, // insert code here

15.

16. if (£ >= 0) {

1V System.out.print (“Mike Found”):
18. }

19. }

20. }

Which code fragment, when inserted at line 14, enables the code to print Mike Found?

A
int £ = ps.index0f (p2);
B
int f = ps.indexCf (Patient (“Mike”)} )
C
int £ = ps.index0f (new Patient “Mike”) );
D
Patient p = new Patient ("Mike");
int £ = ps.index0f (p)
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 20
Given:

public class Test {
public static void main(String[] args) {
boolean a = new Boolean (Boolean.valueOf (args[0]) )
boolean b = new Boolean{args[l]):

151 n

System.out.println(a + + b):;

And given the commands:
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javac Test.java

Java Test 1 null

What is the result?

A. 1 null

B. true false

C. false false

D. true true

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 21
Given:
interface Readable |
public void readBook ()
public void zetBookMark () :
h

abztract clasz Book implements Readable | f4 line nl
public veoid readBook () { 1}
£/ line nZ

h

clas=s EBook extends Book | if ine n3
public veoid readBook () { 1}
A/ line nd

}

And given the code fragment: Book bookl = new EBook(); book1.readBook();
Which option enables the code to compile?

~ A) Replace the code fragment at 1ine nl with:
class Book implements Readable |

~ B)Y At 1ine nZ2 insert:
public abstract void setBookMark();

) Replace the code fragment at line n3 with:
akbsztract «lass EBook extends Bool |

D) At 1line n4 insert:
public wvoid sgetBookMark() {

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 24
Given:
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class Product
double price;

public class Test |
public void updatePrice (Product product,
price = price * 2;

product.price = product.price + price;

H
public static void main(String[] args) {

Product prt = new Product ();
prt.price = 200;
double newPrice = 100;

Test £t = new Test () ;
t.updatePrice (prt, newPrice) ;
System.out.println (prt.price + " : "

H

What is the result?

A. 200.0:100.0
B. 400.0 : 200.0
C. 400.0 : 100.0
D. Compilation fails.

Answer: C

NEW QUESTION 29
Given:

class H O
Static int H.:
ST s
public static wold main(Stringl[] args) |
Hoxl = new ()
X ®2 = new X();

wlopew= 33
#l.] = 4;
2.1 = 5;

HZ.] = 6B;
Svstem.out.println
®1.1 + " " +
T, 0 W R
®2.1 + " " 4+

A Z iy 1

}

What is the result?

A.3456
B.3436
C.5456
D.3646

Answer: C

NEW QUESTION 30
Given the code fragment:

abstract class Toy {
int price;
4 line nl

h

Which three code fragments are valid at line n1?
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A
public static void insertToy() {
/* code goes here */

final Toy getToy() {
return new Toy():

puklic wvoid printTov();

public int calculatePrice() {
return price;

public abstract int computeDiscount();

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: CDE

NEW QUESTION 35
Given:

class H |
b3 4 e
Staticoent. g
public static wvoid main({String[] args} {
X x1 = new X();
X x2 = new X();

xl.i = 3;

x1l.] = 4;

x2.1i = 5;

¥x2.7 = 6;

System.out.println(
®x1l.1 + " " +
wlag 44 = o
x2.1 + " " +
%2 550

}
What is the result?

A.3456
B.3436
C.5456
D.3656

Answer: D

Explanation:
3 b O B

Completed with exit code: 0

NEW QUESTION 39
Given this class:
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public class CheckingAccount {
public int amount;
//1line nl

}

And given this main method, located in another class:

public static woid main(String[] args} {
CheckingZccount acct = new Checkinglccount () ;
//1line n2

+

Which three pieces of code, when inserted independently, set the value of amount to 100?

A
AL 1line nl insert:
public Checkingaccount () {
amount = 100;
1
B
AL 1ine nZ insert:
this.amount = 100;
C
AL 1ine n2Z insert:
amount = 100;
D
At 1ine nl insert:
public Checking&ccount () {
this.amount = 100;
¥
E
AL 1ine nZ insert:
acct.amount = 100;
F
Af 1ine nl insert:
public Checkingaccount () {
acct.amount = 100;
¥
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F
Answer: DE

NEW QUESTION 42

Given the code fragment:

7. StringBuilder =hl = new StringBuilder ("Duke");
8. String strl = sbl.toString();

9, // insert code here

10. gyvstem.out.print (strl == =tr2);

Which code fragment, when inserted at line 9, enables the code to print true?
A. String str2 = strl;

B. String str2 = new String(strl);

C. String str2 = sbh1. toString();

D. String str2 = "Duke";

Answer: A

NEW QUESTION 46
Given the code snippet from a compiled Java source file:
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public cla=zs MyFile
{

public static void main (String[] args)

{
String argl = args[1];
String argZ = args[2];

String argl args[3];

System.cut.println(“Arg is ™ + arg3l);

}

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 132 2
B. java MyFile 2 2 2
C.javaMyFile12234
D. java MyFile012 3

Answer: A

NEW QUESTION 50
Given the code fragment:

int wd = 0;

String days[] = (Ysun”, “mon'", “wad",
for (String s:davs) |
awiteh ({s) |
case "sat":
case “sun®:

wd == 1:
break ;
cage “mon’:
wd++;
case “wed":
wd += 2;

}
System.ocut.println(wd) ;

What is the result?

. Compilation fails.

Answer: A

NEW QUESTION 52
Given:

public class Tsst |

int =, ¥

public Testiint =, int y) |

initialize(x, v);

“aat")

public woid initialize(int x, int y) {

this.x = = * =;

this.y = v * y;

public static void main(String[] args)

int x = 3, y = 5;
Test ok = new Testix, v);

System.cut.println(x + ™ ™ + y);

}

What is the result?

A. Compilation fails.
B.35

C.00

D.925
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Answer: B

NEW QUESTION 53
Given:

public class Test |

public static woid main(String[] args) {
Teat ta = new Teat();
System.out.print {isfivailable + ™ %) ;
izivailakle= ts.deStuff();
System.out.println{i=zdivailables);

1

public static boolean doStuff()
return !iskvailakle;

1

static boolean i1sivailakle = false;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 56
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 60
Given:

class Caller |
private wvoid init () {
System.out.println (™Initialized”);

private wvoid start () {

init () ;
System.out.println(“Started”);
}
}
public class TestCall {
public static void main(String[] args)
Caller c — new Caller{);
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 64
Given this segment of code:

ArrayList<Cycle>» myList = new ArrayList<>():;
myList.add(new MotorCycle()):
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Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.

Answer: BC

NEW QUESTION 65
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 66
Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.

B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.

D. A package must contain a main class.

E. Object is the root class of all other objects.

F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 69
Which statement will empty the contents of a StringBuilder variable named sb?

A.s
B. deleteAll ();
C.s

D. delete (0, s
E. size ());
F.s

G. delete (0, s
H. length () );
I.s

J. removeAll ();

Answer: C

NEW QUESTION 70
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car () f
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thi=s.yv = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;

H
And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 72
Given the code fragment:

if {avar++ < 100 ¢

System.out.printlniavar + "™ Hello Universel™);

}oelze
System.out.printlniavar + " Helloc Worldl™);:
1

What is the result if the integer avar is 9?

A. Compilation fails.
B. 10 Hello Universe!
C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 75
Which three statements are true about the structure of a Java class? (Choose three.)

A. A public class must have a main method.

B. A class can have only one private constructors.

C. A method can have the same name as a field.

D. A class can have overloaded static methods.

E. The methods are mandatory components of a class.
F. The fields need not be initialized before use.

Answer: ACE

NEW QUESTION 76
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